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2022/2021 (e Pa) Gl il adiia 12 Cikall

choose the correct answer: :w‘ a—.“ém Q:‘i‘

I adfal) ASidia day Jalsil) g Jualdal) A dvalad) 4y ) aadiul (m)
— 5

(1) f(x) = | 3t*sin2tdt
0 0

y
>(a)f’(x) = 3t%sin2t

(b)f'(x) = —3t* sin 2t

(c)f"(x) = 6y?cos2y — 6ysin2y

I(d)f!(x) = —3y2 sin2y

C(Z) Fix) = 1fXStSintdt

1-2x

m(a)f’(x) = (5—-2x)sin(1—2x) + (5 + 5x) sin(1 + x)

maJ)f’(x) = (10 — 20x) sin(1 —2x) + (5 + 5x) sin(1 + x)

(of'(x) = (10 —20x) sin(1 — 2x) — (5 + 5x) sin(1 + x)
I I I(d)f’(x) = — (10 = ZOx) sin(l = Zx) + (5 + Sx) sin(l *F x)

m—(e)f'(x) = — (5 —10x) sin(1 — 2x) + (5 + 5x) sin(1 + x)

Z
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4sinx

T f@- | tog.t-y)dy

3cosx

s (a) f' (x) = —log (1 — 3 cosx) +log, (1 —4sinx)
r(b)f’(x) = log,(1 — 3 cosx) + log,(1 — 4sinx)

(o)f'(x) = 3sinxlog, (1 — 3cosx) +4cosxlog, (1 — 4sinx)
(d)f'(x) = —3sinxlog.(1—3cosx) +4cosxlog,(1 —4sinx)

(e)fl(x) = —3sinx loge(l — 3 cos x) —4cosx loge(l — 4 sin x)

—

L
-

2 ” -
m x=1 Y f(x)= fix V3 F tdt Dl Luled) Ustas (i€ (5)

ff(t) dt + k =ff(t) dt J=i Ak i (4)
a b

f(x)=x*-3x+1;a=-1,b=2

3 3 5 5
(a) — 5 (b) 7 (c) — 7 (d) 5

(O)y=4x+4 (d)y=-4x+14

Alilial) ddhaiall dales (6)

11 10

17 20
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[T f®dt Wl ) A Jsal) gag (7)

Uiy y = £(x) il b aa

(b)

-
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fsinSx dx =4 (8)

-

1
(a) §c083x+C (b) —3cos3x+C

1 1
| (c)—§c033x+C (d)—3cos§x+C

> .

I— V22X + 3
(a) 2v2x+3+C (b)v2x -3 +C
I (©)3v2x+3+C (d)V2x+3+C

J—?-Ji ( 9)

‘ f 8(y* +4y? +1)? (y + 2y)dy =yl (10)

(f)(a) ;(y“ +4y3 + 1)3 +C

Ln(b) g y*+4y*+1)3+C

i I(c)%(y5+4y2+1)3+(}

2
D30 +4y* +y)° +C

00971503393009 -5- () s A
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fxcos(sz)dx sl (11)

(a) %sin(ll-xz) +c (b) %sin(ZxZ) +c

(c)%sin (% xz) +c (d)%sin(sz) +c

' 2 c
f(l —cosi) X smzdt agl (12)

3 3

(a)%(l—cos%) +c (b);(l—cos%) +c

(1-cost) + 2 (1+cost) +
> cos c ()3 cos c

~
3]
—

Inx :
f Zax =) (13)

(a) ;(ln;!c)6 +C (b) ; (Inx)” + C

(c) % (Inx)” + C (d) ;(lmc)7

O agd g daauall adlaY) agagd) agll)
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(tan‘1 x)z :
I Y L x2 dx gl (14)

— () %(tan‘1 x)3 +C (b) % (tan™? x)3 +C

I (c) _?1 (tan™? Juc)3 +C (d) % (tan™! x)3

> sin+/x

— Vx

(a)2cos/x +C (b) — 2 cos/x
I (c) —2cos+/x+ C (d) cosv/x + C

C f - Jlﬂ/}dx x5l (16)
N

dx aw sl (15)

(a)g(l +\/?r)% —-4(1 +\/f)% +c
(b) ; (1+ \/E)% —4(1+ \/E)%

(c)§(1+\/5)%+4(1+\/§)%+c

Z (d)g(1+\/§)%—4(1+\/§)%+c
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1 .
——dx xnsl (17)
[x x*—1

1 1
(b) 5 sec 1x? + ¢

(a) = sec 1x?

O 2

1 1
I (¢) = sec x4+ ¢ (d) 5 sec 1(2x) + ¢

xvx c
f T dx =) (8)
5

2 5 2 5
(a)g tan—1x2 (b) — £ tan~1x2 + ¢

I . 5 5 5
(C)E tan 1xZ + ¢ (d)i tan 1xZ + ¢

d i |

(a) ;—i (b)In2x

2 1
(c) p (d) o

O g8 ) 5 daasaal) 4l agagl agll
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AN ) A Juadl) dialdl) 4l gall) ol g A jaa
2022/2021 (e Pa) Gl i adiiae 12 Cikall

rddmay gall Lgd) BaY g Aldi del ) daal B (20)

I L1+ + D 2ms

dt:
e (4 (i 23 g ¢ Gl iy Gl £ ¢ Aally AR P ) ], Sua
el 5 Lgelii ) &L L )
L@.ED‘JJ{-JQMM‘&WJ‘J@J\
7 7 7
b)— = d)=
byzm (@©Qgm (dzm

1+Vx+1d
vx+1

I(a)zx/x+1+x (b)2vx+1+x+c

X al (21)

C (clVvx+1+x+c (d2Vvx+1—x+c

m fsingx dx mgl (22)

3

m cos3x cos’x
(a) cosx — 3 +c (b) cos x + 3 +c

I I l cos3x cos3x
(c) —cosx — 3 +c (d)—cosx+ 3 +c

O agd g dasaiall 4aY) agagd) agll)

Z
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T

6

f sin®xdx J<ll) ndias gl (23)
0

S — ) — 1= | sinbrde £ —
sin" x x_192 < sin x x_192
0

Q
—
=)
N
S —— vy

mw
6

(c) —0.04< fsinSxdx < 0.04 (d) W e
0

f(x) = V16 — x? A Gy Jiay JS&) (24)
L AUl ddlatal) dalua B

N

X

I T

(a) 3 (b4 (c)5n (d)m

ST ag8 5 ) 9 Aasauall Llay) agagl) agll
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Aaiga by (L) £ Ol 8o (pilia) asaa (0 gy €25 (25)
sl JSANL Aall AN & £ Cus s(E) = f{ff(x)dx cm

Ct=0 U aal aBsala (1)

1w W
G Sub St =3 e avual) absala (2)
P X S— Ay g ft=75 e R de yuuLa (3)
¢ \3@3?3)&@@3@&@\&9&0\9&&4(4)
b ©Aad L) g A WAL M AW IS Aaad) A a3l La (5)

Ay

0
S(0) = f fdx=0 (1)
0

S(@3) = ff(x) dig = b bl b = %(1 +;)><3 )
0

) sla¥) A alawall ¢ §'(5)= -2 (3)

e il daldl @B oY §'(5)=0:0lés ¢ S (5)=0 (4)
el N gat =5

Sl s 065 =2 2e(5)
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